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18 JAN 2023
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25 JAN 2023

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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A X>Y
B.X<Y
CX2Y
DX <Y
E X=X
or CND



{%/(216) x25'+30-40=7?-59

&

A.14
B.20
C.34
D.15
E.24




81+ 162 + 18 =297 + 33 + (2)’

(@)

A.8
B.6
C.13
D.3
E.NOT




120% of 325 - 45% of 240 + (9/8) x 64 = ?

( p \

A.334
B.534
C.554
D.354
E.344




362.5 X 2161.5 - 65.5 = 9




(31)* -

2 =(20)°+7*

A.7
B.9
C.8
D.10
E.NOT




3+ (16%x9)+36%x4="2

(@)

A.152
B.256
C.156
D.260
E.304




133.33% of (9.5 x 2 + ?) = 2804

A.2084
B.1984
C.2004
D.2000
E.NOT




[(5%x12)+7-4]+72=3

A.32
B.21
C.26
D.31
E.40




12.5 x 30 - V324 = 22 - V64

(@)

A.19
B.9

C.29
D.20
E.18




5656 -28 x 11 -333=7?

~
¢ X
e
Py
/'/\:\

A.1789
B.1989
C.1889
D.2089
E.NOT




When you reverse the digits of the number 13, the number increases by 18. How many

other two-digit numbers increase by 18 when their digits are reversed?

I 3TT TEAT 13 F 3Tehl hl IeTed 3, al AT 18 I ATAT 2l FRa=T 3= 2t 3ieht il w&aTen

T 18 o dfeg B § TS 37k 37eh 3eTe QU AT & 2

A.5
B.6
C.7
D.8
E.10




S distributes 15%, 10%, and 20% of his monthly income to his son, daughter, and wife
who spends 60%, 60%, and 30% of that amount respectively. If the difference between @
the total amount left with the children along with wife and S is 961rs. What is the monthly

income of S?

S 3T AT 3T T 15%, 10%, 3T 20% U A, 2T 3R U1 ol foraia swear 2, s sa
TRT 6T SHAI: 60%, 60%, H 30% Tr<l HIAT g1 Al Tt X S o AT Toeli o UTH T el
TTIT o =< T 3T 961 U Bl S <hl AR 31T /T 22 s

2 ALRs. 3100

B.Rs. 3200
C.Rs. 3000
D.Rs. 3500
E.NOT




A is 120 liter of mixture of milk and water in the ratio 17 : 7. 40% of mixture is poured
out and poured into vessel X. Vessel X contain a 100 liter mixture of equal milk and

water. Find the new ratio of milk and water?

A T ST UTHT 3 TSr0T ST 120 e [T 17: 7 % S17uma | 21 FIsror &6t 40% a7 X # Sre
ST 21 aﬁ#xﬁww ST T T 100 e frsroT AT ) ‘q’%raﬁwﬁrsmwm

{2050
\ '\?'\\\, / ,




The sum of the digits of a two digit number is 6. If four times of 9 is subtracted from
original number the digits of original number will interchange. What is the original

number?

Y 3fehl hl HEAT o ekl BT ART 6 81 Afe HeT HEAT A 9 T IR THT HETAT AT &, a1 Hel HEan
& 3feh ITTUY § T ATEN| HeT HEAT T 2?2

A.51
B.12
C.15
D.81
E.21




The ratio of the present ages of G and S is 5 ¢ 6. Six years ago, the ratio of their ages was @\

7 < 9. Find their ages after 3 years?
G 3R S T TAHT 3T T ATATT S : 6 T T: T UG, IThT T T ATATT 7 : 9 AT. 3TV h

ATE ITehT AT A hitTA?

A.22, 25
B.23, 26
C.18, 21
D.23, 27
E.28, 33




A sum of money lent at compound interest in two parts in ratio 2 ¢ 3, first at the rate 20% @\
for 2 years and the second at the rate 10% for 2 years amounts 5859rs, Find the sum?

Y T Trehalfg SATS UR IR & T T 2 : 3 o Ut H, UgeAT 2 99 o 1w 20% Hr aw &
R el 2 a1 ok ToTT 10% h 5 & U S 775 T 5859 B9 82

A.5000
B.1500
C.8000
D.4500
E.2000




Pipe X fills the tank at the rate of 32 liter / hour while Y can empty the same tank in 80 @\
hours. Find the capacity (in litre) if it gets filled in 400/3 hours with pipe X and Y working

together?
QTeY X dehl ohi 32 Te/HeT Al 27 | WIAT & SAdfeh Y SHT ehl ahl 80 © W WA T TehaT Bl

i UTSd X TR Y o Ueh AT 1A i W TE 400/3 TS | W ATAT &, A7 &THAT (A rex §) J1a

\\ Ly

A.1800

o B.1500
o C.1600
D.2000




A train of length 200 m running at speed 90 km/hr crosses a tunnel in 24 seconds and

another train running at speed 108 km/hr crosses the same tunnel in 30 seconds. Find the
length of the second train ?

90 TeRwt/ereT <R TTTer & Tt AT 200 Hiet Sl Ueh ¢ Teh T i 24 Tehe W UR HTAT & 3R
108 Torefi/ereT Y 7T & oreT T Ot ¢ I T i 30 Fehs H TR L 2. TOH ¢ i orvars

AT hITeTa?
S A200 m

B.400 m
C.500 m
D.550 m
E.900 m




Length and breadth of a rectangular room are in the ratio 4 ¢ 5. The perimeter of the
room is 180 m. Cost of flooring is 75rs per square metre. Find the cost of flooring the

room?

Teh STTIATRT hA hl TETg 3T TTSTS hT STTUTA 4 : 5 Tl HuR chl URTEr 180 HieX 71 w9t Y

T 75 T i ST HieX Z| HHY Rl I 2 hl AR JATd hifeTA?

A.Rs
B. Rs
C.Rs
D.Rs
E.Rs

. 1,50,000
. 1,20,000
. 1,75,000
. 1,68,000
. 1,45,000



